

Summary of Bids Received

Project: 2018 Concrete Patching **Section:** 18-00000-10-GM

Description: Remove & Replace B-6.12 C&G; Class B Patching

Bidder Schroeder & Schroeder Inc.	Address 7306 Central Park	City, State, Zip Skokie, IL 60076	Bond Bid Bond	Bid Price \$100,828.00	% Over/Under Eng. Estimate -54.41%	\$ Over/Under Eng. Estimate -\$120,347.00
A Lamp Concrete Contractors, Inc.	1900 Wright Blvd	Schaumburg, IL 60193	Bid Bond	\$160,250.00	-27.55%	-\$60,925.00
Norvilla, LLC	2701 S. 13th Avenue	Broadview, IL 60155	Bid Bond	\$173,877.00	-21.38%	-\$47,298.00
Alliance Contractors, Inc.	1166 Lake Avenue	Woodstock, IL 60098	Bid Bond	\$198,165.50	-10.40%	-\$23,009.50
Engineer's Estimate				\$221,175.00		
Design	IDOT(2)	Contract Bidder	SI	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	1gr Capital Prograr	nming	



Return Bid Tabulation

Project: 2018 Concrete Patching **Section:** 18-00000-10-GM

Description: Remove & Replace B-6.12 C&G; Class B Patching

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Alliance Contr	actors, Inc.	A Lamp Concrete Contractors, Inc.		Schroeder & Schroeder Inc.		Norvilla, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	35101600	AGGREGATE BASE COURSE, TYPE B 4"	140.0	SQ YD	\$7.50	\$1,050.00	\$4.00	\$560.00	\$2.00	\$280.00	\$7.00	\$980.00	\$7.00	\$980.00
2	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	13.0	TON	\$225.00	\$2,925.00	\$475.00	\$6,175.00	\$300.00	\$3,900.00	\$225.00	\$2,925.00	\$255.00	\$3,315.00
3	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	10.0	TON	\$230.00	\$2,300.00	\$475.00	\$4,750.00	\$325.00	\$3,250.00	\$250.00	\$2,500.00	\$360.00	\$3,600.00
4	42001300	PROTECTIVE COAT	550.0	SQ YD	\$2.50	\$1,375.00	\$0.01	\$5.50	\$1.00	\$550.00	\$3.50	\$1,925.00	\$2.30	\$1,265.00
5	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,310.0	SQ FT	\$20.00	\$26,200.00	\$7.00	\$9,170.00	\$10.00	\$13,100.00	\$7.00	\$9,170.00	\$9.50	\$12,445.00
6	44000100	PAVEMENT REMOVAL	102.0	SQ YD	\$50.00	\$5,100.00	\$40.00	\$4,080.00	\$20.00	\$2,040.00	\$25.00	\$2,550.00	\$33.00	\$3,366.00
7	44000500	COMBINATION CURB AND GUTTER REMOVAL	229.0	FOOT	\$40.00	\$9,160.00	\$40.00	\$9,160.00	\$30.00	\$6,870.00	\$5.00	\$1,145.00	\$29.00	\$6,641.00
8	44000600	SIDEWALK REMOVAL	1,310.0	SQ FT	\$10.00	\$13,100.00	\$4.00	\$5,240.00	\$3.50	\$4,585.00	\$2.00	\$2,620.00	\$2.50	\$3,275.00
9	44200966	CLASS B PATCHES, TYPE I, 10 INCH	4.0	SQ YD	\$300.00	\$1,200.00	\$325.00	\$1,300.00	\$250.00	\$1,000.00	\$250.00	\$1,000.00	\$230.00	\$920.00
10	44200970	CLASS B PATCHES, TYPE II, 10 INCH	271.0	SQ YD	\$300.00	\$81,300.00	\$325.00	\$88,075.00	\$210.00	\$56,910.00	\$110.00	\$29,810.00	\$230.00	\$62,330.00
11	44200974	CLASS B PATCHES, TYPE III, 10 INCH	52.0	SQ YD	\$300.00	\$15,600.00	\$325.00	\$16,900.00	\$200.00	\$10,400.00	\$100.00	\$5,200.00	\$230.00	\$11,960.00
12	44200976	CLASS B PATCHES, TYPE IV, 10 INCH	27.0	SQ YD	\$300.00	\$8,100.00	\$325.00	\$8,775.00	\$190.00	\$5,130.00	\$90.00	\$2,430.00	\$250.00	\$6,750.00
13		CLASS D PATCHES, TYPE I, 9 INCH COMBINATION CONCRETE CURB AND	30.0	SQ YD	\$150.00	\$4,500.00	\$275.00	\$8,250.00	\$125.00	\$3,750.00	\$200.00	\$6,000.00	\$225.00	\$6,750.00
14		GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	229.0	FOOT	\$60.00	\$13,740.00	\$50.00	\$11,450.00	\$40.00	\$9,160.00	\$37.00	\$8,473.00	\$45.00	\$10,305.00
15	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$30,000.00	\$30,000.00	\$13,300.00	\$13,300.00	\$34,000.00	\$34,000.00	\$17,500.00	\$17,500.00	\$31,000.00	\$31,000.00
16	XX006343	SEEDING (COMPLETE)	25.0	SQ YD	\$45.00	\$1,125.00	\$75.00	\$1,875.00	\$35.00	\$875.00	\$50.00	\$1,250.00	\$47.00	\$1,175.00



Return Bid Tabulation

Project: 2018 Concrete Patching **Section:** 18-00000-10-GM

Description: Remove & Replace B-6.12 C&G; Class B Patching

Item N	o. Pay Code	Description	Quantity	Unit	Eng Esti	Eng Estimate		Alliance Contractors, Inc.		A Lamp Concrete Contractors, Inc.		Schroeder & Schroeder Inc.		la, LLC
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
17	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	8.0	EACH	\$300.00	\$2,400.00	\$750.00	\$6,000.00	\$400.00	\$3,200.00	\$450.00	\$3,600.00	\$600.00	\$4,800.00
18	70018600	DRAINAGE STRUCTURES TO BE RECONSTRUCTED	1.0	EACH	\$2,000.00	\$2,000.00	\$3,100.00	\$3,100.00	\$1,250.00	\$1,250.00	\$1,750.00	\$1,750.00	\$3,000.00	\$3,000.00
		Bid Total				\$221,175.00		\$198,165.50		\$160,250.00		\$100,828.00		\$173,877.00



Return Bid Details

Project: 2018 Concrete Patching **Section:** 18-00000-10-GM

Description: Remove & Replace B-6.12 C&G; Class B Patching

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	35101600	AGGREGATE BASE COURSE, TYPE B 4"	140.0	SQ YD	\$7.50	\$1,050.00	\$2.00	\$7.00	\$5.00
2	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	13.0	TON	\$225.00	\$2,925.00	\$225.00	\$475.00	\$313.75
3	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	10.0	TON	\$230.00	\$2,300.00	\$250.00	\$475.00	\$352.50
4	42001300	PROTECTIVE COAT	550.0	SQ YD	\$2.50	\$1,375.00	\$0.01	\$3.50	\$1.70
5	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,310.0	SQ FT	\$20.00	\$26,200.00	\$7.00	\$10.00	\$8.38
6	44000100	PAVEMENT REMOVAL	102.0	SQ YD	\$50.00	\$5,100.00	\$20.00	\$40.00	\$29.50
7	44000500	COMBINATION CURB AND GUTTER REMOVAL	229.0	FOOT	\$40.00	\$9,160.00	\$5.00	\$40.00	\$26.00
8	44000600	SIDEWALK REMOVAL	1,310.0	SQ FT	\$10.00	\$13,100.00	\$2.00	\$4.00	\$3.00
9	44200966	CLASS B PATCHES, TYPE I, 10 INCH	4.0	SQ YD	\$300.00	\$1,200.00	\$230.00	\$325.00	\$263.75
10	44200970	CLASS B PATCHES, TYPE II, 10 INCH	271.0	SQ YD	\$300.00	\$81,300.00	\$110.00	\$325.00	\$218.75
11	44200974	CLASS B PATCHES, TYPE III, 10 INCH	52.0	SQ YD	\$300.00	\$15,600.00	\$100.00	\$325.00	\$213.75



Return Bid Details

Project: 2018 Concrete Patching **Section:** 18-00000-10-GM

Description: Remove & Replace B-6.12 C&G; Class B Patching

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
12	44200976	CLASS B PATCHES, TYPE IV, 10 INCH	27.0	SQ YD	\$300.00	\$8,100.00	\$90.00	\$325.00	\$213.75
13	44201749	CLASS D PATCHES, TYPE I, 9 INCH	30.0	SQ YD	\$150.00	\$4,500.00	\$125.00	\$275.00	\$206.25
14	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	229.0	FOOT	\$60.00	\$13,740.00	\$37.00	\$50.00	\$43.00
15	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$30,000.00	\$30,000.00	\$13,300.00	\$34,000.00	\$23,950.00
16	XX006343	SEEDING (COMPLETE)	25.0	SQ YD	\$45.00	\$1,125.00	\$35.00	\$75.00	\$51.75
17	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	8.0	EACH	\$300.00	\$2,400.00	\$400.00	\$750.00	\$550.00
18	Z0018600	DRAINAGE STRUCTURES TO BE RECONSTRUCTED	1.0	EACH	\$2,000.00	\$2,000.00	\$1,250.00	\$3,100.00	\$2,275.00
		Bid Total				\$221,175.00			